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%3 1 %2 + 16 ie exactly divisible by x, where x is
a positive integer. The number of gll such

poezible values of x is

(2) 3
() 4
(e} &
@ 6

The number of {a, b, ¢}, where a, b, ¢ are|

. positive integers such that abe.= an, is

(a) 30

b 27
(e} 9

d) &

If the rootz of the qnadratic. equafinn
xg—-atx—logmN:ﬂai*ereal, then what is the

mitimum valoe of W 7

_{_a) 1
» —
{e} ILI}D
@ 1

1| Page

The number of different solutions of the
equaticn x + ¥ + z = 12, where each of x, ¥ and

% is a positive integer, is

{a) 53
{b} 54
{c;y &b
@ 56

If .1 = a® +.h2+c2, where a and b are

consecutive integers snd ¢ = ab, then I iz

() an even number and it is not a sq.uare o

an integer ) '

(b) an odd number and it is not a gquare of
an integer

fz)  sguare of an even integer

fd) sgquare of an odd integer

If the number 23P62971335 is divisible by the

smallest odd composite number, then what is

‘the value of P ?

{al 4
b} B
{e) B
oy 7

What iz the remainder when the sum

17 + 25 4 35 4 45 4 5% ju divided by 4 ?

a] Q .

by 1
2
3

Aed
i@
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8. What is the digit in the unit place of 3927 11. If 172920 5 divided by 18; then what is the

‘ }' . remainder ?
a

(a} 1
by 3

{hy 2
ey T

{ey 14
a 9 '
@ oy 17

9. LOCM of two numbers is 28 times their HCF. |19 What ix the value of
The gum of the HCF and the LCM is 1740. If 1 1 .1 1
. + M +ot ?
one of these numbera is 240, then what is the 1+42 v'ri+ﬂ'§ B+ A4 99 + 100

other number ?

fa) 1
tad - 420 (l;] 5
(b) 640 " ey &
el . ﬁﬂﬂ | : . ) 1o
(d}. 1040

18, Ifx™ = Mix fx Jx , then what is the value of -

_ m?
10. (x" — a®) is divisible by (x — n), where x = a, for

s 1
{a} natural numbern b) - 1
: 4

fh! even natural number n only .
©) %

{c) odd natural number n only

- @ T
(d) prime numbar n only n
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14. The sum of all poussible products taken two at |17, A 60-page book haz n lines per page. If the

a time ot of the numbera +1,+ 2, £ 3, +4, + 5 number of lines were reduced by 3 in each
is page, the number of pages would have to be
@ 0 irereased by 10 to give the same writing
gpace, What is the value of n 7
by -30 '
ey —bb ' . - {a) 18
{d) 55 :
by 21
15. A train of length 110 m is moving at a uniform .
c 24
speed of 132 km/hr. The time required to cross
a bridge of length 166 m is
(d} 30
{a} 65 seconds
(bl 7 weconds
{e} 75 seconds
td) 85 seconds 18 If x men working x hours per day can do

x units of work in x days, then ¥ men worldng

16. 'The_ simple. interest on a certain sfum is ¥ hours per day in ¥ days would be able to do

one-fourth of the sum, If the number of yoars k units of work. What iz the value ﬁfk 2
and the rate of annual interest are '
numerically equal, then the number of (a) . x2y
Years ia .
. . . ) -
ta) 26 : ® Xy
®- 3 (e) yzx.‘al
e} 36
' @ iz *
)y &
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* Let d(n) denote the number of positive divisors

21.
- of a positive integer n. Which of the following

are correct - . '

1. diB)=d(l1}

2. a(5).a(11) = d(55)

3. dib)+ di11) = d(16)

Select the correct answer uging the code given

below : .

(a) 1and3only

(b} 1 and2only.
“ (e} 2 and 3 only

d) 1,2and3

If A, = P, + 1, where P is the product of the |

firat n prime numbers, then congider the

following statements :

1. A is always a composite number.

2, A + 218 always an odd nurmber. 23

3. Ap+1lis always an even number.

‘Which of the above statemnents isfare correct ?

Eﬁ) 1 only

(b} 2only

(e} 3 only

(di 2and3only

4| Page

A shopkeeper sells his articies at their cost
price but useg a faulty balance which reads
1000 gm for 800 gm. What is the ackusl profit
percentage 7 ' '

(a} = 20%
(hy 25%
cy 30%
(d)  40%

A river 3 m deep and 40 m wide is flowing at
the rate of 2 km/hr and falls into the sea.
What is the amount of water in litres that will

a1l into the sea from this river in a minuate ?
(a) 40,00,000 litres

by  4,00,000 litres

fey 40,000 litres

fdy 4,000 litres

Ifa televi;siun ‘s.eﬁ is. Euld at ¥ .x, a loss of 28%
would be incutred. If it is sold at T y, a profit
of 12% would be incurred. What is the ratio of
viox? . . '

{(a} 41:9
(b} 31:9
{cy 23:9
idy 14:9

& 022-41237666
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By inéreasing the speed of his car by 15 km/hr,
g person covers a distance of 304 km by taking
an hour less than hefore. What was the

original speed of the car 7

{a) 45 km/hr

thy 50 km/hr
{c) 60 km/hr
(d) 76 km/hr

Three persens start 2 business with

capitais in the ratio 1 : L : l The first|.
et 34 5

person  withdrawa half his capital after 27.
4 months, What is Hig share of profit if the |
business fetches an annugl profit of T 96,800 7 |
(a) ¥ 32,000
{h} ¥ 34,000
{c} T 46,000
(d) ¥ 36,800

5| Page

26, If x varies as'y, then which of the fél]uwiﬁ?g.

" igfare correct ?

1. %2+ yPvaries as =2 - ¥2

2. iz wvaries inversely ns ¥
y .

a. %xzy varies as ° \ x"'yﬂ

Select the correct answer using the code given

below :
(a) 1and 2only

(b} 2and3only

“{g}  Saonly
{d) 1,2and3
 Ena was born 4 years after her ‘parents

marriage. Her mather is 3 years younger than
her father and 24 years older than Ena, who is

13 years old. At what age did Ena's father get

married ?
(g) 25 years
(b) 24 years

fe)- 23 vears

(dy 22 years .

& 022-41237666



www.studycampus.in

28, Mgzheah is 60 years- old. §Ram is 5 years
younger to Mahesh and 4 years elder te Raju.
Babu is a younger hrother of Raju and he is
6 years yuungén What is the age difference
between Mahesh and Babu ?

{a} 18 years

(kY 15 years

fcd) 13 vears

{d}) 11 years

The number of items in a hooklet is N, In the
first year _them i# an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the

hau];let 7
(a) Lessthan N
(b) EgqualtoN
{c) Morethen N

td} It dependson the value of N

If ab+xy—xb=0 and bc+ ye—cy =0, then
what is E+E equal to ?
[ R

(a} %
m 2
v
e 1
) 0

31.

a2,

33.

W

6| Page

What is the HCF of the pelynomials

xﬁ—334+3x2—1 and x% +3x° +3x+17?

{a) {(x+1)
(b) (x+1¥
© x+1
CHRNCES P

The HCF and the LCM of two polynomials arve
3x + 1 and 30x3 + 7x% — 10x — 3 respectively. If

one polynomisl is 6z% + bx + 1, then what is

the other polynomial 7
(a)  15x? + dx+ 3
by 155+ 4x— 3
(€} 15x% —4x+3

d) 15x%_4x-3

If (p+2)(2q-1)=2pg~10 and
(p—2](2q—1]=2pq—1l_),thanwhatis _

pg equal to ?
{fa) —-10
by -5
© &

10
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34. What is the value of 98. X, Y and Z travel from the same place with
a2 t ae L az—c2" a 2c 3 5 unifnrmspeeds*tkﬁﬂw.ﬁkm&randﬁkmfhr
2 3 ] 23 EIY : .

a“e—c¢” ac+2ac” +¢” a®-c¢" AFC respectively. Y starts 2 hours after X. How
) 0O long after ¥ must Z start in order that they
1 overtake X at the same instant ?
3
{c) ac {n} = houors
a? +¢? 2 '
5 .
td) {thy — hours
a+c .
35. What is the square root of 4z + 852 —ax 4+ 17 {c}y — hours .
{a} 2x*-2x-1
: 11
(dy == hours
) 2x%2-x-1 g
() ZxP+2x+l _ .
) 2xadx-1 89, l-x- =D + x"1 where n is a natural number,
18 di_viﬁihla by
: 2
398. 'The sum of the digits of a two digit number is (a) (1+x)" -
13 and the difference between the number and b (1-x)?
that formed by reversing the digits is 27. What
. . L (l’.‘,) 1-2x— 22
is the produet of the digits of the number 7 _ :
{a} 36 . ' @ 1e2x-x
(hy 40
fe} 44 . .
_ 40. A person seld an article for ¥ 75 which cost
{d]. 54 him ¥ x. He finds that he realised x% profit on
o ) ] . .
37 f % - ¥ __Z , then which one of the his putlay. What is x equal to 7
b+c ¢c+a b-a .
' . ' fa) - 208
following is correct ?
ia) x+¥v+z=0 . bl 25%
bl R—7-z=0
fod 50%
fed =+y—z=0. . |
td) x4+ 2y +3z2=10 . id) 1005
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41. A car did a journey in t hours, Had the|44. The Euclidean algorithm is used to caleulate

average speed been x kmph greater, the| . the _
]nurneg,r would have. taken y hours less. How| - {a) aquare root of an integer
lung was the journey ? _ (b}  eube root of an integer

{¢] sguare of an integél‘

{a) x{t-— y) iy _ _

| {(d} HCF of two integera
b x{t—y ty] ]
' 45. If radius of o sphere is rational, then which of

. -2
(e} x{t-—yity” the following is/are correct ?

(dy xl(t+yity 1., Iis surface area ig rational.
2, Its volume iz rational.
42. When a ball is allowed to fall, the time it takes | . s:llﬂct the correct answer using the code given
- o

to fall any distance varies as the square root of

. - ) - ' “ta)  lonly
the distance and it takes 4 seconds fo _
fal} 78-40 m. How long would it take to fall (b} 2 oniy
122-50 m ? Lo (&) Bothland2

(d) MNeither 1 nor 2
fa) 5 seconds .

th) 55 seconds ¥ 4. Ifmsecﬂ—sinﬂzmandsécﬂ—cusﬂ:n,
: 4 2 I
is m3n3 3,3 ?
(¢ & seconds then what is m3n3 +m3n3 equal to
' . {a} O
(d) 65 seconds
by 1
84y Axab () mn -
43, If 6° -2 4 = 8 (Given log,p 2 = 0-301 and
(Y} 22
log;y3 = 0-477), then which one of the ) N

following is correet 7 : :
47. If coa 0 + sec B = k, then what is the value of

(a) O<x<l sin® 0 —tan? o ?

o fa) 4-Ek
b} lex«2 .
: (h) 4-k2

) 2ex<d @ K24
(d} Jaexad _ . . (d] k2+2

www.studycampus.in 8| Page & 022-41237666
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ABC is a trianglé inscribed in a sémicircle of
diameter AP, What is cos (A + B} + =in {A + B)

equal to ?
tal O

1
(b Z

1
© 3
@ 1

Congider the following statements :

1. gin 8 = x + L is pussﬂl}le for some real
va.lué_ of x. * .
.2, cos B - X+, l is poasible for some real
' alue of x. E

Which of the abuve sfatements infare correct ?
{al 1omly .

{hy 2only

(¢) Both1and 2

“{d) MNeither 1 nor2 -

What is the magnitude {(in radian} of - the

interior angl_e nf_g- regiler pentagon 7
w = |

(k) '25—“

(e} 3n

{d) EEE

al.

o2

9| Page

The difference between two angles is 157 and
the sum of the angles i radian is i—; The
bigger angle i k times the smaller angle.
What iz k equal to 7 .

@ 3
(o) -2-
(e g |
id) . %

Coneider the following statements :

1. The equatiuﬁ‘zainzfd—msﬁ+4=§lis

possible for all 0.
2. tan® + cot B eannot be less than 2, where
0= H < % .
Which of the above statements is/are correct 7
{a) 1only
(bl 2 only

ir) Bothland2

© {d} Meither 1 nor 2

A road curve is to be laid out on 4 circle. What
radius should be used if the track iz to change
direction by 42° in distance of 44 m ? '

{Assume ©= %)

{a} 60m
{h} 6&6m
(e} T7om
(d) 80m

& 022-41237666



H4. What is the maximum valueof 3sin8-4 7 |BB8.

fa) —4
h -1
ey 0
1
65, If ain B + cos B = 2,

ain® 6 + cos® 6+ 6 sin® @ cusﬂ_ & equai to?

) 1

3 5

() 1
ter 1

f 7

{d) ry

56. What is the leaat value of 9 4in? 0 + 16 cos” 0 ?

a) 0
{h}y 9
(c) 18
td) 25

B7. 1fcos 47° + gin 47° = k, then what is the value

of cos? -1-'7;“> _sin® 47 ?

{(a) k#—ﬁ
(b) —ky2_k2
e} Ek«l— 1_;2

(@ —kyl-k°

www.studycampus.in

then

what 1=
59.
6.
10| Page

If cosec @ — gin & = p* and sec 8 — cos & = ¢,
then what ie the value of tan 67 '

@ B
q
1
P
ic) 1q
() pég®

If 0 < ¢, p <90° such that cos (¢ — §} = 1, then
what {& 8in o —sin p + cos o —coa b equal to ?

fa) -1
bl 0
© 1
(dl 2

Coneider the following statemments @ -

1. The value of coa 61° + ain 29° cannat

exceed 1.

2. The value of tan 28° — cot 67" i=s less '
than 0.

Which of the above statements isfare correct 7
{a)y 1only
(b) 2 anly

{cy Bothland 2

(d) Neither 1nor 2’

& 022-41237666



81. In’a quadrilateral ABCD, £B = 90° and|64. ABC is an equilateral triangle. The side BC is

AB? + BC? + CD? - AD? = 0, then what is " trisected at D such that BC = 4 BD. What is
£ ACD equal to ? _ * the ratio of AD? to AB? ?
(@) 30° {a} 7:9
. (b 1:3
(k) 60° .
L _ ey bB:7
(e} 90° : ' @ 1:2
d)  120°

65. Consider the following statements :

62. InaAABC, AC = 1Z em, AB = 16 cm and AD 1. 'The diagonals of a trapezium divide each
is the bisector of £ A. If BD = 4 ¢m, then what other proportionally. '
is DC equal to ? ' :

o _ 2.  Any line drawn parallel to the parallel
(g)  2cm _ w sides of =& trapezium divides the
non-parallel sidea proportionally.
b} dem
Which of the above statements is/are correct ?
{¢) 4dcm :
{a) .1only
‘) Som (b} 2 only
_ {cy Bothland2
63. ABCD is & cyclic quadrilateral. The bisectors td) Neither 1 nor 2

of the angles A, B, C and D cut the circle

at P, @ R and 5 respectively. What is - -
6. If H, C and V are respectively the height,

£ PQR + ~ REP equal to ?- : _
' curved surface area and volume of a cone, then
tay B0 ' . whati¢ SnVH® + 9V equal to ?
(b} 135° (a) C?H?
@ 180° (b) 2C%H?
e 5C'H?

d) 270° : '

' ) 702
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71,

Huia_-r many solid lead balls each of diameter In a triangle, values of all the angles are
2 mm cen be made from a solid lead bail of integers (in degree measure). Which one of the
radius 3 cm ? following carnoet be the proporiion of their
. _ ' ?
() 512 measures 7
by 1024 ~{ma) 1:2:3
(€} 256000 by d:4:5
dy 6:7:.8
The two =ides of a triangle are 40cm and
41 am. If the perimeter of the triangle is|72. The length of a rectangle is inereased by 10%
of em, what is 1ta area ? and breadth is decreased by 10%. Then the
. fth i '
{a) 90 cm? area of the new regtangle ia
) 136 mng fa) neither increased nor decreased
(@) 150 cm? (b} increased by 1%
b
@ 180 em? (¢}  decreased by 1‘.3% _
(d} decreased by 10%
The diagonals of a rhombus diffor by 2 units :
.and its perimeter exzceeds the sum of the | 78. Thae aurface areas of two spheres are in the
diagonals by 6 units. What is the area of the ratio 1 ; 4. What is the ratio of their volumes ?
7
. rl'..lﬂmbuﬂ ! {a:} 1:16
{a) 48 sqnare units
. > _ (by 1:12
{h) 36 pquare units
fcy 1:10
fz} 24 square unita
i:
{dy 12 sguare units (@ .
. ' 74. The ] dth and height of a brick
What is the area of a right-angled triangle, if; - @ length, breadth and height o 1‘1 are
. . . . 20 em, 15cm and 10 cm respectively. The
the radius of the circumcircle is §cm and , , -
altitude drawn to the hypotenuse is 4 om 7 number of bricks required to construct & wall
[ n ;
" e ! with dimensions 45 m length, 0-15 m breadth
{a} 20 cm® " and 3 m height is
(b} 18 cm?® {a) 12450
2 (hy 11280
1
() 16 © 6750 -
() 10 em® () None of the ghove
12| Page
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If the sum of all interior angl.es of a fagula.r 78.
polyzon iz twice the sum of all its exterior
. angles, then the polygon is
(a) Hexagon
(b Octagon
{c) Nonagon
fd] Decagon
7.
A bicycle wheel makes 5000 revolutions in
moving 11 km. What is the radius of the
wheel 7 {(Asgume m = ?,?—2}
fa] 17bcom
{h} 35em
fet  70em’
{d) 140 ¢m-
80.
The volumes of two cones are in the ratio 1 : 4
and their diameters are in th_c ratio 4 : 5
What is the ratio of their heights ?
fa) 26:64
(b) 16:25
(e) 9:16
dr b:9
13| Page

In a triangle ABC, if 2 /A =3 /B =6 £C,
then what is < A + # G equal to 7

{a} 80°

thy 1207
fe) 1367
{d&» 150°

If the perimeter of a circle and a square are
cqual, then what is the ratio of the area of the
cirele to that of the square 7

{2} 1:m
fhy 2:a
ey d:m
dy 4:=m

The lengths of the sides of a right-angled
triﬁngle are consecutive even integers (in em).

What is the produet of these integefs 7

(a] &0

by  124)
{:r:} 360
id) 480

& 022-41237666
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81, A circle is inscribed in a triangle ABC, It
touches the sides AR and AC at M and N
respectively. If O is the 'eent;'e of the circle and
< A = T)®, then what is »~ MON equal to ?

(a) 90°

thy  100°
(o) 110°

@ 1200

82, The sum of the aquares of =ides of a
right-angled triangle iz §450 zquare units
What ia the length of ita hypotenusae ?

(a) _ a{ unita
th) 55 u.'l.;lit.s
(] B0 units
(d) 65 units

83. A ﬁiangle Qnﬂ a parallelogram have equal
areas and equal bases. If the altitude of the
trian;;le is k times the altitnde -of the
parallelogram, then what ia the value of k 7

{a) _4
{by 2.
e 1
1
o) - 2

14| Page

84, Areas of two squares are in the ratio m? ; n%,

“What is the ratio of their perimeters 7

fal m:n
by n:m
{cy m:n®

(d) m?:n

AT) in the median of the trisngle ABC. If P is
any pont on AD, then which one of the
following is correct ?

{a) Area of triangle PARE is greater than the
area of triangle PAC

(b}  Area of triangle PAB ia equal to area of
triangle PAC

tal  Area of friangle PAR is one-fourth of the
area of triangle PAC

(d}  Ares of triangie PAB is half of the area
of triengle PAC '

What is the area of a segment of a circle of
radiua r subtending an angle & at the centre ?

y
{a} ETEE
{b} %#(B—Esm—g— cuBgJ

Lo lr2 [E_i—sing cns?—]

2 2
(d) %r-gsing- oS %

& 022-41237666



87. ABC.is a triangle right-angled at C. Let F be|gp,  The radii of the flat circular faces of a bucket
any point cn AC and @ be-any point on BC.

- are x and 2x. If the height of the bucket is 3x,
Which of the following statements is/are

“what iz the capacity of the hucket ?

correct ? .22
SRR S - uﬂmsumen=7}
1. AQ®+BP?=AB+PQ’
. - {a)  11x®
2, AB=2PQ _
* Belect the correct anawer using the code given {by 2227
halow :
: foy  44x®
{a} Lonly
: d) 5552
(hy 2 t;nly
iz} PBothland2
(d} Neitherlmor2 ., - P Coee. E. 4, .r, s and t represent length, breadth,

height, surface area and volume of a cuboid

S regpectively, then.what is 1 + 1 + 1 equal
B8, Four cireular coins of equal radius are placed 4 | poa

with their centres ¢coinciding with four vertices )’
of a square. Bach coin touches two other coins. _
If the uncovered ares of the square is 42 em®, (a) . %
then what is the radius of each coin 7
{Aasuyme n = % )]

w 2
(] Hem
) Tem . © ' B

2t

(e 10em
@ tem | w =

www.studycampus.in 15| Page & 022-41237666
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- (d)

Fifteern  candidates

examination. The marks of the eandidates who

" appeared. in  an

paszed in the examination are 9, 6, 7, 8, 8,9,
&, 5, 4 end 7. What is the median of marks of
all the fifteen candidates ? -

fa) 6

(b} BB

{ey 7

7.5

If the yield (in gm} of barley from 7 plots of

gize one gguare yard each, were found to ke

180, 191,.175, 111, 154, 141 and 176, then

what is the median yield 7

{a) 11lgm

(b} 154gm
{c} 175gm

(d) 176 gm

Which one of the following measures of central

tendency will he used to. determine the
average =ize.of the ghoe =old in the shop 7

fay  Arithmetic mean

LY Geometric mean

fe}y Median

“ i) M_uda

85.
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When the class intervals have equal width,
the height of a rectangle iIn a histogram
represents

{a) Width of the class
(b  Lower class limit |
Ec}j Upper clags lirnit
{d)

Frequency of the class

The ages of 7 family members are 2, &, 12, 18, -
38, 40 and 60 years respectively. After 5 years
a new member aged x years is added. If the
mean age of the family now goes up by
1-5 years, then what is the value of x 7

{a} 1
by 2
e} 3
dr 4

The mean weighl of 100 students'in & clase iz
46 kg. The mean weight of boys is 50 kg and
that of girle is 40 kg, The number of boys

exceeds the number of girls by
(a) 10
b} 15
(e 20
(d) | 25

& 022-41237666
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What iz the algebraic sum of the deviations
from the mean of a set of values 25, 65, 73, 75,
83,76,17,15, 7,147 '
ml -1
by O
c} 1.
dy 2

. 100,
The mesan of five observations x, x + 2, x + 4,
x + B, % + 8 is m. What is the mean of the first
thres obgervations 7 '
ial m
by m-1
(el m-2
fd) -m-3

17| Page

What is the median of 2, 4, 4§, ..., 100 7

{a) 48
{hy 48
{ey B0
(dr 51

The harmonic mean and the gepmetric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

(a} %
by 120
1 11

(d)  14-4
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